SAP ABAP table ICL TICL048 S {Structure of Table TICL048}

TOO0O
_ - --7-"0.N [MANDT [CLNT (3)]

ICL TICL048 S-CLIENT = TOOO-MANDT

TICLOO3
CLIENT [CLNT (3)]
CLTYPE [CHAR (4)]
_0.-N | GENERAT [NUMC (5)]
VERSION [NUMC (5)]

-

TICLOOS

CLIENT [CLNT (3)]

CLTYPE [CHAR (4)]

U | GENERAT [NUMC (5)]

VERSION [NUMC (5)]

SUBCLTYPE [CHAR (4)]

TICLO11
CLIENT [CLNT (3)]
CLTYPE [CHAR (4)]
VERSION [NUMC (5)]

~
~

ICL TICL048 S-GENERAT = TICLO11-VERSION \ 0. N

TICLO41
CLIENT [CLNT (3)]
MOS [CHAR (3)]




